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Falte das Blatt entlang der Linie und berechne W.   (G · p : 100 = W) 

 1) G = 257,88 m³  p = 1,2%  W = ______ W = 3,09 m³ 

 

 

 2) G = 662,40 m²  p = 1,0%  W = ______ W = 6,62 m² 

 

 

 3) G = 824,00 kg  p = 0,7%  W = ______ W = 5,77 kg 

 

 

 4) G = 166,69 ml  p = 0,9%  W = ______ W = 1,50 ml 

 

 

 5) G = 716,77 km  p = 1,2%  W = ______ W = 8,60 km 

 

 

 6) G = 579,51 m³  p = 0,8%  W = ______ W = 4,64 m³ 

 

 

 7) G = 859,75 ml  p = 0,8%  W = ______ W = 6,88 ml 

 

 

 8) G = 429,06 ml  p = 0,3%  W = ______ W = 1,29 ml 

 

 

 9) G = 669,03 m³  p = 0,1%  W = ______ W = 0,67 m³ 

 

 

10) G = 86,76 m²  p = 0,9%  W = ______ W = 0,78 m² 

 

 

11) G = 368,81 kg  p = 0,3%  W = ______ W = 1,11 kg 

 

 

12) G = 83,63 m³  p = 1,3%  W = ______ W = 1,09 m³ 

 

 

13) G = 659,93 km  p = 0,0%  W = ______ W = 0,00 km 

 

 

14) G = 33,65 m³  p = 0,7%  W = ______ W = 0,24 m³ 

 

 

15) G = 819,15 m²  p = 1,3%  W = ______ W = 10,65 m² 

 

Ergebnis: 


